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9. Evaluate. a#0, b#0, a#b, a+b#0
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11. Use <, > or = to write a true sentence.
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13. Suppose the width of a square is four times the Suppose the volume of a cube is 343 times the :
width of another square. How do the arcas of the volume of another cube. How do the lengths of

squares compare? of the sides compare?
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Section 1.5 - Orders of Operations ¢ 27

Orders of Operations

If we want to solve 4 + 2 x 3, do we add first, then multiply, or do we multiply first, then add? Does it make a
difference? If we add first, the answer is 18; if we multiply first, the answer is 10. What if we write 2(3 + 4)?
Wha: he brackets mean? What about 6°+2? To come to an answer that everyone can agree on, we must
pake rules to standardize the nnlc: in which we perform mathematical operations.

P 207 BEDMAS
Ri Ies‘for rder 5

Operations
B 1. Doall calculations withir brackets or parenthesés first. When more than one kind of grouping of
symbols occurs, do the innermost one first, then work from the inside out.
E 2. Evaluate all exponential expressions,

D/M3. Doall multiplication and division in order from left to right. [ 2_ ]
A/S 4. Do all addition and subtraction in order from left to right. EX') % (4- +12> ’O
=3[ 6 —lo]
36 — |0

To remember the order of operations, the acronym BEDMAS is used.

B Brackets =3 [26]
Exponents &
9::) Division 1 Item @

M Multiplication 3
S Suation Ex2) 3tllo(4+2) |
34 10-6°
Simplify. 3+ 10x36

a) 5+3x4 =2 1360

Ch 1 Page 2



F,i

Simplify. =3+ 10:36
a) 5+3x4 R o

= B63)

b) 2°+2x3 qz s‘qq
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d) (3~1x4)'-(3+%:) (6)* 4“75

= Zom— 3| (&) - OE)-1
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b) 2°4+2x3=8+2x3=8+6=14

> Solution: a) S+3x4=5+12=17

¢) 6-(2+3)=6-5=6-25=-19

& 3-2x4f-(3+5)=(3-87-(3+38) =(-5)-(3+18)=25-21 = 4
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1.5 Exerci sang HwW P 28 Q (-4 (RI)H)

1. Calculate.

a) 6+2x3 — W) 2X34+2X%4

¢) 4x6-5x%3 d) 16-8=4-2
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2. Simplify.
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3. Simplify
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4. Simplify.

2) 1202[(20 - 8)— (1 + 3] B TE)

) 4+3(2°-1) d) 4°[(8+4)=6]
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TRY
m) 3+ 2{3[(4-2)+ 1} n) —6-3{-2(2-3)+(4-2)}
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